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§8.5 T EL R AR
X ~ B(n,p), Z5: p, WHl: [0,1]. 5% H @

Hy:p=py BlLHy:p=py 5L Hp:p=po.

o KFEARTT: Hn > 1 Hnpy = 5 B, A O IR & #.
o /INFERTTIL. BRRE Af.
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#15.1. 50 ~ 54 % [¥15¢ B 4 L FLBRE K Fpo = 2%. 4
10000 450 ~ 54 % I RER BT FLIRE I 30 2, B 47400
4B ILE. K

Hy:p=2% < Hy:p+#2%.

o X ~ B(n,p): fEHy T, iTfhF

X —np

—— ~ N(0,1), (¢g=1-—p).

N (0,1), ( )
>z1—a/2}'

o T = 14.28 > 1.96 = 20975, 17 E Ho.

o HEH:

W=<uz: —X — "o
npo(1 — po)
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B15.2. ZEAEZIE (B IR - BRI > 10 1) IR p. 16132
HIAE SR RIE 12T AZ5. Kk
Ho:p<pyo=09<«< Hy:p>pop.
o X ~ B(n,p). "MEARTVE: BEEWAW = {z: 2 > i}.
GRS (i po) Sa< fli—1 po) F113.6.7,
fli,p) = Ppy(X = i) = {§ mu Y1 — )" du.
={z: f(z,po) < o} BN, 2> i< f(x,p0) < f(i,po)
f(z,po) = P(Y 2 y), HFY ~ F = F(2(n — z + 1), 22),
py) == (1 + =2Hy) =1 = po.
W = {z:p(z) = po}, HH, p(z) == o(F1-a):
flax,po) <aiff y = F_, iff po < p(F1-a).

©

(4

©

©

p(127) = (1 + 82212041 1 0 )™ — 0.9220 > p.
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'E"{ZI:: X ~ B(nlup1)7 Y ~ B(n27p2)' ﬁgﬁl\lﬂﬂlﬁ

Hy:p1 <ps BLHy:pi=p2 8L Hpy:pr = p.

_ d
o CLT: 2-um 5 7L N(0,1). SLLN: p; = X ~ py.

nipiqi
o X _p il bty Y _ . & [béag
m 1 n L1 py P2 R np 22

X Y d p14 p2d
° (=)~ (m—p2) /B + BLZ.

o ¢ = (X = L) = (o1 = p)) /ox EAMRAN (0, 1).
o= (X—Y)/**Iéof.
o WEWA:W ={z:n=2_4}
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Hy:p1 =po < Hy:p1 # pa.

o fEHy N, p1 = p2 = p. CLT:

X d Dq Y d
= _pryBz, = -pxy[Hz,
ni ni no

X Y 4 1 1

Z R (=+ iz

ny ny ny n2)pq

o SLLN: p = ,‘”'iz; A D.

° (= (X —Y)/ox. BWEHW ={a:[¢|> 210}
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%115.3. BF 1 ARBEZAZG XF40 ~ 44 2 GRS B Lo O I B2
5000 A7 A% & =4O AEFEL3 A5 10000 A7 A # — 4 Ol
BT N KK Ho - pr = p2. (o = 0.01.)

o p = (13 + 7)/(5000 + 10000) = 20/15000.

° (= (z—79)/ (n% | n%)ﬁ@ = 3.01 > 2.58 = 20.995, 13 /& Hp.

o MUAKHEH, : p1 < po.

e P = 13/5000, py = 7/10000.

o n=(T—7)//BL + 22 - 248 > 2.33 = 2,99, {1/ Ho.
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